#### **ORDINANCE NO. 23-914**

# AN ORDINANCE REVISING RATES TO BE CHARGED BY CLARKSVILLE CONNECTED UTILITIES FOR ELECTRIC SERVICE; DECLARING AN EMERGENCY; AND FOR OTHER PURPOSES

WHEREAS, the City of Clarksville, Arkansas ("City") is the owner and regulator of a municipal utility providing electric, water, wastewater, and broadband services; and

WHEREAS, pursuant to Section 2.60.03 of the Clarksville Municipal Code, the City Council has retained authority to establish the maximum retail rate that may be charged for electric service and directed the utility to submit a proposed rate change when a factual basis for a rate change exists; and

WHEREAS, on June 12, 2023, Clarksville connected utilities reviewed analysis of utility costs and rates performed by experts and determined that a factual basis exists warranting a revision of rate structures, more specifically that:

- Rate structures that incorporate decreasing per unit costs as consumption increases are antiquated, encourage inefficiency, and fail to reflect actual utility costs
- · Rate structures that differ by season no longer reflect actual utility costs incurred
- Nominal base/customer charges fail to recoup fixed costs
- Complex rate calculations are cumbersome and unnecessary

WHEREAS, Clarksville connected utilities has proposed alternative options for revised electric rate structures to the City Council for consideration as shown on the exhibits attached hereto and described below:

#### **Existing Rates**

Exhibit A-x: Current Residential Rates R-1

Exhibit B-x: Current Small Commercial Rate C-1

Exhibit C-x: Current Large Commercial/Industrial Rate P

Exhibit D-x: Current Fuel Adjustment

#### **Proposed Rate Schedules**

Exhibit A-1: Proposed Residential Rates R-1, Option 1

Exhibit B-1: Proposed Small Commercial Rate C-1,, Option 1

Exhibit C-1: Proposed Large Commercial/Industrial Rate P, Option 1

Exhibit D-1: Proposed Fuel Adjustment, , Option 1

NOW, THEREFORE, BE IT ORDAINED by the City Council of the City of Clarksville, Arkansas that:

Section 1. The Clarksville City Council hereby determines that the following proposed electric rate schedules are just and reasonable, and hereby directs Clarksville Connected Utilities to charge and collect such rates from customers for services provided as soon as administratively practical, but no later than July 1st 2023:

#### OPTION #1

- A. The Residential Rate Schedule(s) shown on Exhibit A-1.
- B. The Small Commercial Rate Schedules shown on Exhibit B-1.
- C. The Large Commercial/Industrial Rate Schedule shown on Exhibit C-1.
- **D.** The Fuel Adjustment calculation shown on Exhibit D-1.
- Section 2. Until such time that the rate schedules and Fuel Adjustment Calculation described in Section 1 are implemented, Clarksville Connected Utilities shall continue to charge and collect rates according to rate schedules that were effective immediately prior to the adoption of this ordinance.
- Section 3. Upon implementation of the rate schedules and Fuel Adjustment calculation described in Section 1, all previously approved versions of electric rate schedules Residential R-1, Small Commercial C, and Large Commercial/Industrial P shall be repealed and superseded by the rate schedules shown in Section 1. Additionally, all previously approved versions of the Fuel Adjustment calculation shall be repealed and superseded by the Fuel Adjustment Calculation shown in Section 1.
- **Section 4**. The provisions of this ordinance are declared to be severable and, if any part of this ordinance is declared to be unlawful or unenforceable, the remainder of this ordinance shall continue to be effective.
- **Section 5**. All ordinances and parts of ordinances in conflict herewith are repealed to the extent of the conflict.

Passed this 12th day of June, 2023.

APPROVED:

ATTEST:

David Rieder, Mayor

Barbara Blackard, City Clerk/Treasurer

## RESIDENTIAL RATE SCHEDULE R-1 (EXISTING RATE)

EXHIBIT A-x (pg 1)

**Existing Residential Rates** 

Availability: At any point on the Company's distributing system.

**Application:** For residential service to single residences or individual family apartments supplied through one (1) meter, including incidental family use on the appurtenant premises. The rate schedule is not applicable to commercial type use on the appurtenant premises such as chicken brooding. Where a portion of the residence premises, not separately metered, is used for nonresidential purposes, the predominant use of the service, as determined by the Company, shall determine the rate schedule applicable to all service. Service is for the use of the customer and may not be shared and may not be resold to others. Not applicable to standby or supplementary service.

**Character of Service:** Service will normally be single-phase sixty (60) cycle, at approximately 120/240 volts. However, three- phase service may be furnished if approved by the Clarksville Connected Utilities.

Net Monthly Rate: for consumption beginning with October billing cycle meter readings each year

Base/Customer Charge \$15.00/month Energy Charge \$0.078/KWH

**Base/Customer Charge Monthly Bill:** A base charge of fifteen dollars (\$15.00) will be charged on a monthly basis regardless of consumption quantity.

**Fuel Adjustment:** The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service here-under, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment:** Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

## SMALL COMMERCIAL SCHEDULE C (EXISTING)

#### **EXHIBIT B-x**

**Existing Small Commercial Rates** 

Availability: At any point on the Company's distributing system.

**Application**: For small commercial for lighting and power purposes supplied through one (1) point of delivery. Available to multi-residential dwellings when metered through one (1) supply point. Not applicable to resale, shared, standby or supplementary service.

Character of Service: Single or three-phase, sixty (60) cycles and at one (1) standard delivery voltage required by customer and available at customer's service location where service is delivered and metered at voltages less than 12,500y/7,200 with a maximum demand not to exceed fifty (50) KW. Notwithstanding the voltage and maximum demand limitations will not apply to educational institutions (public schools, universities, etc.).

Net Monthly Rate (for consumption beginning with October billing cycle meter readings):

Base/Customer Charge \$20.00/month Energy Charge \$0.0775/KWH

Base/Customer Charge Monthly Bill: A fixed charge of twenty dollars (\$20) will be charged on a monthly basis regardless of consumption quantity.

**Three-Phase Service**: When three-phase service is supplied, a monthly charge of Thirty Dollars (\$30) will be added to the net monthly charges applicable to single-phase service. In the event a primary line extension is necessary, customer will reimburse company for the excess construction cost of the three phase primary line, either in cash or under a service facilities contract.

**Fuel Adjustment**: The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service hereunder, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment**: Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

Existing Large Comm./Ind. Rates

## LARGE COMMERCIAL / INDUSTRIAL RATE SCHEDULE P (EXISTING)

**Availability**: At any point on the existing facilities having adequate capacity and suitable voltage for delivery of service from the Company's distribution system.

**Application**: For electric service required by customer on the premises supplied through one (1) point of delivery. Not applicable to resale, shared, standby or supplementary service.

Character of Service: Single-phase or three-phase sixty (60) cycle and at one (1) standard delivery voltage required by customer and available at customer's service location where service is delivered and metered.

Net Monthly Rate: For consumption beginning with October billing cycle meter readings.

Base/Customer Charge \$250.00/month
Demand Charge \$4.00/KW
Energy Charge \$0.0415/KWH

**Base/Customer Charge Monthly Bill**: A fixed charge of two-hundred fifty dollars (\$250) will be charged on a monthly basis regardless of consumption quantity plus the demand charge as computed under the above schedule; or such amount as may be required by the Company when necessary to justify the investment required to provide the service.

**Determination of Maximum Demand**: The customer's maximum demand shall be the maximum rate at which energy is used for any period of thirty (30) consecutive minutes of the month for which the bill is rendered as shown by the Company's demand meter, but shall not be considered to be less than fifty (50) KWH.

**Determination of Billing Demand**: The billing demand upon which the demand charge is based shall be the maximum demand as determined above corrected for power factor as set forth under Power Factor Clause, provided that no billing demand shall be considered as less than the highest billing demand previously determined during a twelve (12) month period ending with the current month.

Power Factor Clause: The consumer shall at all times take and use power in such a manner that the power factor shall be as nearly one hundred percent (100%) as possible, but when the average power factor as determined by continuous measurement of lagging reactive kilovolt ampere hours is less than ninety-five percent (95%) the billing demand shall be determined by multiplying the maximum demand, measured by the demand meter for the billing period by ninety-five percent (95%) and dividing the product thus obtained by the actual average power factor expressed in percent. The company may, at its option, use for adjustment the power factor as determined by test during periods of normal operation of the consumer's equipment instead of the average power factor.

The customer takes service at 12,500y/7.200 volts.

1. The customer owns, maintains, and operates all equipment on customer's side of point of delivery.

When the customer qualifies and elects to take primary service, but the company chooses to meter on the load side of the customer's transformers, the five percent (5%) discount shall be allowed, but the KWH billed shall be increased by the amount of the transformer losses computed as follows:

One percent (1%) of the total KVA rating of the customer's transformers times seven hundred thirty (730) hours.

**Secondary Service/Primary Metering Discount**: When the customer does not qualify for the five percent (5%) primary service discount and the Company chooses to meter on the supply side of the Company's transformers, the five percent (5%) primary service discount will not be allowed, but the KWH shall be decreased by the amount of the transformer losses computed as follows:

One percent (1%) of the total KVA rating of the Company's transformers times seven hundred thirty (730) hours. The decrease in KWH shall not exceed five percent (5%) of metered KWH.

**Fuel Adjustment**: The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service hereunder, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment**: Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

**Contract Period**: Contracts under this schedule shall be for not less than one (1) year, but longer contracts (subject also to special minimum guarantees) may be necessary in cases warranted by special circumstances or unusually large investments by the Company.

## Fuel Adjustment (CURRENT)

**EXHIBIT D-x** 

**Existing Calculation** 

Fuel Adjustment Clause: The fuel adjustment clause shall be made monthly based on the preceding month billing period. The base for the total power cost for a one (1) month period is \$0.055 per KWH after adjusting for transmission, distributing system losses, city used energy, utility energy, and street lighting. The current cost per KWH is calculated by dividing the "total power cost" by the "total KWH sold" (using power cost and KWH sold each preceding month). "Total power cost" includes fees and other charges made by the wholesale power suppliers to the Company, cost for equity transfer for city energy, debt service associated by Company owned power generation, as well as company owned generation fuel and labor costs.

The adjustment is found by subtracting the "base energy cost" from the "current energy cost." The adjustment is applied to all KWH as determined under each rate schedule. The adjustment is not applied to Rate Schedule L, Security Light Service. (Ordinance No. 04-488-A, Sec. 1.)

## PROPOSED RESIDENTIAL SCHEDULE R-1

**EXHIBIT A-1** 

Proposed Residential Rates Option 1

Availability: At any point on the Company's distributing system.

**Application:** For residential service to single residences or individual family apartments supplied through one (1) meter, including incidental family use on the appurtenant premises. The rate schedule is not applicable to commercial type use on the appurtenant premises such as chicken brooding. Where a portion of the residence premises, not separately metered, is used for nonresidential purposes, the predominant use of the service, as determined by the Company, shall determine the rate schedule applicable to all service. Service is for the use of the customer and may not be shared and may not be resold to others. Not applicable to standby or supplementary service.

**Character of Service:** Service will normally be single-phase sixty (60) cycle, at approximately 120/240 volts. However, three- phase service may be furnished if approved by the Clarksville Connected Utilities.

Net Monthly Rate: For consumption beginning with July 2023 billing cycle meter readings:

Base/Customer Charge

\$10.00/month

**Energy Charge** 

\$0.061/KWH

Base/Customer Charge Monthly Bill: A base charge of ten dollars (\$10.00) will be charged on a monthly basis regardless of consumption quantity.

**Fuel Adjustment:** The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service here-under, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment:** Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

## PROPOSED SMALL COMMERCIAL RATE SCHEDULE C

EXHIBIT B-1
Small Commercial Rates

Option #1

Availability: At any point on the Company's distributing system.

**Application**: For small commercial for lighting and power purposes supplied through one (1) point of delivery. Available to multi-residential dwellings when metered through one (1) supply point. Not applicable to resale, shared, standby or supplementary service.

Character of Service: Single or three-phase, sixty (60) cycles and at one (1) standard delivery voltage required by customer and available at customer's service location where service is delivered and metered at voltages less than 12,500y/7,200 with a maximum demand not to exceed fifty (50) KW. Notwithstanding the voltage and maximum demand limitations will not apply to educational institutions (public schools, universities, etc.).

Net Monthly Rate (for consumption beginning with July 2023 billing cycle meter readings):

Base/Customer Charge

\$20.00/month

**Energy Charge** 

\$0.0775/KWH

Base/Customer Charge Monthly Bill: A fixed charge of twenty dollars (\$20) will be charged on a monthly basis regardless of consumption quantity.

**Three-Phase Service**: When three-phase service is supplied, a monthly charge of Thirty Dollars (\$30) will be added to the net monthly charges applicable to single-phase service. In the event a primary line extension is necessary, customer will reimburse company for the excess construction cost of the three phase primary line, either in cash or under a service facilities contract.

**Fuel Adjustment**: The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service hereunder, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment**: Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

#### **EXHIBIT C-1**

Large Comm./Ind. Rates Option #1

## PROPOSED LARGE COMMERCIAL / INDUSTRIAL RATE SCHEDULE P

**Availability**: At any point on the existing facilities having adequate capacity and suitable voltage for delivery of service from the Company's distribution system.

**Application**: For electric service required by customer on the premises supplied through one (1) point of delivery. Not applicable to resale, shared, standby or supplementary service.

Character of Service: Single-phase or three-phase sixty (60) cycle and at one (1) standard delivery voltage required by customer and available at customer's service location where service is delivered and metered.

Net Monthly Rate: For consumption beginning with July 2023 billing cycle meter readings.

Base/Customer Charge \$250.00/month
Demand Charge \$4.00/KW
Energy Charge \$0.0415/KWH

**Base/Customer Charge Monthly Bill**: A fixed charge of two hundred fifty dollars (\$250) will be charged on a monthly basis regardless of consumption quantity plus the demand charge as computed under the above schedule; or such amount as may be required by the Company when necessary to justify the investment required to provide the service.

**Determination of Maximum Demand**: The customer's maximum demand shall be the maximum rate at which energy is used for any period of thirty (30) consecutive minutes of the month for which the bill is rendered as shown by the Company's demand meter, but shall not be considered to be less than fifty (50) KWH.

**Determination of Billing Demand**: The billing demand upon which the demand charge is based shall be the maximum demand as determined above corrected for power factor as set forth under Power Factor Clause, provided that no billing demand shall be considered as less than the highest billing demand previously determined during a twelve (12) month period ending with the current month.

Power Factor Clause: The consumer shall at all times take and use power in such a manner that the power factor shall be as nearly one hundred percent (100%) as possible, but when the average power factor as determined by continuous measurement of lagging reactive kilovolt ampere hours is less than ninety-five percent (95%) the billing demand shall be determined by multiplying the maximum demand, measured by the demand meter for the billing period by ninety-five percent (95%) and dividing the product thus obtained by the actual average power factor expressed in percent. The company may, at its option, use for adjustment the power factor as determined by test during periods of normal operation of the consumer's equipment instead of the average power factor.

**Primary Service Discount**: When all of the following conditions are met, a discount of five percent (5%) of the net monthly bill computed will be allowed:

- 1. The customer takes service at 12,500y/7.200 volts.
- 2. The customer owns, maintains, and operates all equipment on customer's side of point of delivery.

When the customer qualifies and elects to take primary service, but the company chooses to meter on the load side of the customer's transformers, the five percent (5%) discount shall be allowed, but the KWH billed shall be increased by the amount of the transformer losses computed as follows:

One percent (1%) of the total KVA rating of the customer's transformers times seven hundred thirty (730) hours.

**Secondary Service/Primary Metering Discount**: When the customer does not qualify for the five percent (5%) primary service discount and the Company chooses to meter on the supply side of the Company's transformers, the five percent (5%) primary service discount will not be allowed, but the KWH shall be decreased by the amount of the transformer losses computed as follows:

One percent (1%) of the total KVA rating of the Company's transformers times seven hundred thirty (730) hours. The decrease in KWH shall not exceed five percent (5%) of metered KWH.

**Fuel Adjustment**: The above energy charges will be increased or decreased to reflect the charge in the cost of fuel and purchased power incurred by the Company for the supply of service hereunder, as prescribed in Fuel Adjustment Clause.

Taxes: The net monthly bill is subject to the addition of all taxes levied on power bills.

**Payment:** Payment shall be due fifteen (15) days from the billing date and if not paid on or before the fifteenth (15th) day following the billing date, a late charge of ten percent (10%) may be added to the bill.

**Contract Period**: Contracts under this schedule shall be for not less than one (1) year, but longer contracts (subject also to special minimum guarantees) may be necessary in cases warranted by special circumstances or unusually large investments by the Company.

#### **EXHIBIT D-1**

Proposed Calculation

#### PROPOSED FUEL ADJUSTMENT

**Fuel Adjustment Clause**: The fuel adjustment clause shall be made monthly based on a six (6) month period ending with the preceding month. The base cost for a six month period is \$0.0475 per KWH after adjusting for transmission, distributing system losses. The current cost per KWH is calculated by dividing the "total power cost" by the "total KWH sold" (using power cost and KWH sold for a six (6) month period ending with the preceding month). "Total power cost" includes fees, associated costs, and other charges made by the wholesale power suppliers to the Company.

The fuel adjustment is found by subtracting the "base energy cost" from the "current energy cost." The adjustment is applied to all KWH as determined under each rate schedule. The adjustment is not applied to Rate Schedule L, Security Light Service/streetlights.

## **Comparison of Options**

SCHEDULE	CURRENT	PROPOSED
Residential R-1	\$15.00/month + \$0.078/KWH + Fuel Adjustment	\$10.00/month + \$0.061/KWH + Fuel Adjustment
Small Commercial C	\$20.00/month + \$0.0775/KWH + Fuel Adjustment	\$20.00/month + \$0.0775/KWH + Fuel Adjustment
Large Ind/Comm P	\$250.00/month + \$4.00/KW + \$0.0415/KWH + Fuel Adjustment	\$250/month  + \$4.00/KW  + \$0.0415/KWH  + Fuel Adjustment
Fuel Adjustment	Month-to-month. Cost of power and losses above \$0.055/KWH is added to each bill	Rolling 6-month average. Cost of power above \$0.0475/KWH is added to each bill.

OLD RATES	у			
		(kWh) SOLD/NO. OF		
EL RATE DESCRIPTION	EL RES. RATES	CUST	EL REVENUE	
Customer Charge (2)			\$343,005.0	
First 265 kWh (2)	\$0.06080	12,128,520	\$737,414.0	
All additional (2)	\$0.04420	34,149,440	\$1,509,405.2	
Total Block Charge (AVG)	\$0.00000	45,277,554		
Fuel Adjustment Charge	\$0.04022	46,277,960	\$1,861,299.55	
Residential Rate / kWh (1)	\$0.09618	46,277,960	\$4,451,123.82	
		(kWh) SOLD/NO. OF		
EL RATE DESCRIPTION	EL COM. RATES	CUST	EL REVENUE	
Customer Charge (2)	\$10.0000	8,496	\$84,960.00	
First 1000 kWh (2)	\$0.05970	8,388,000	\$500,763.60	
All additional (2)	\$0.05180	28,695,368	\$1,486,420.06	
Total Block Charge (AVG)	\$0.0000	38,257,634		
Fuel Adjustment Charge	\$0.04022	37,083,368	\$1,491,493.06	
Commercial Rate / kWh (1)	\$0.09610	37,083,368	\$3,563,636.72	
		(kWh) SOLD/NO. OF		
EL RATE DESCRIPTION	EL IND. RATES	CUST	EL REVENUE	
Customer Charge (2)	\$100.0000	525	\$52,500.00	
Per kW Demand (2)	\$3.5000	416,893	\$1,459,127.16	
First 100 kWh (2)	\$0.02760	60,000	\$1,656.00	
Next 260 kWh (2)	\$0.02330	156,000	\$3,634.80	
All additional (2)	\$0.02150	167,399,156	\$3,599,081.85	
otal Block Charge (AVG)	\$0.0000	167,615,156		
uel Adjustment Charge	\$0.04022	167,615,156	\$6,741,481.57	
Industrial Rate / kWh (1)	\$0.07074	167,615,156	\$11,857,481.39	
		250,976,484	\$19,872,242	
\$0		Power Cost	\$17,491,605	
		"Margin"	\$2,380,637	

**Power Cost** kWh SOLD \$15,890,237 245,168,195

\$17,086,801 245,168,195

\$0.03534 \$0.0294742 \$0.04022

**Fuel Adustment** 

X

Z				
	(kWh) SOLD/NO. OF		VS OLD	
EL RES. RATES	CUST	EL REVENUE	RATES	
	45,734	\$686,010.00	100.09	
7 - 1 - 1 - 0 - 0	12,128,520		28.39	
\$0.07800	34,149,440	\$2,663,656.32	76.59	
\$0.00000	45,277,554		100-000-110-1	
\$0.01777	46,277,960	\$822,359.35	-55.89	
\$0.11059	46,277,960	\$5,118,050.23	15.09	
	(1) 1 (1) (2) (1) (1) (1) (1) (1) (1) (1) (1)			
FI COM DATES	Miseria Company of the Company of th			
The second secon		The Subject of the Association of the Subject of		
			100.09	
			29.89	
		\$2,223,891.02	49.69	
			-55.89	
\$0.09985	37,083,368	\$3,702,852.47	3.9%	
	/hwh) corp /no or			
EL IND. RATES	CUST	FI REVENUE		
	525		150.0%	
			14.3%	
\$0.04150			50.4%	
\$0.04150			78.1%	
\$0.04150		70 * 200 * CA 100 CA 10	61.4%	
\$0.0000		70,000,0000	02.17	
\$0.01777		\$2,491,140.23	-63.0%	
\$0.07210	140,187,970	\$10,107,764.88	1.9%	
)	EL RES. RATES  \$15.00000 \$0.07800 \$0.07800 \$0.00000 \$0.01777 \$0.11059  EL COM. RATES \$20.0000 \$0.07750 \$0.007750 \$0.0000 \$0.01777 \$0.09985  EL IND. RATES \$250.0000 \$0.04150 \$0.04150 \$0.04150 \$0.0000 \$0.01777	Selection   Sold   So	CUST   EL REVENUE	

223,549,298	\$18,928,668	-4.7%
Power Cost	\$16,267,682	
"Margin"	\$2,660,985	11.8%

Power Cost	kWh SOLD	<b>Fuel Adustment</b>		
\$15,890,237	218,375,750	\$ 0.01777	\$0.0550000	

NEW PROPOSED RATES	X				
EL RATE DESCRIPTION	EL RES. RATES	(kWh) SOLD/NO. OF CUST	EL REVENUE	VS OLD RATES	VS 2021 RATES
Customer Charge (2)		45,734	\$457,340.00	33.3%	-33.39
First 265 kWh (2)		12,120,520	\$739,839.72	0.3%	-21.89
All additional (2)	\$0.06100	34,149,440	\$2,083,115.84	38.0%	-21.89
Total Block Charge (AVG)	\$0.00000	45,277,554			
Fuel Adjustment Charge	\$0.02527	46,277,960	\$1,169,444.05	-37.2%	42.29
Residential Rate / kWh (1)	\$0.09615	46,277,960	\$4,449,739.61	0.0%	-13.1%
		//da/h) coup /aio or			
EL RATE DESCRIPTION	EL COM. RATES	(kWh) SOLD/NO. OF CUST	EL REVENUE		
Customer Charge (2)	\$20.0000	8,496	\$169,920.00	100.0%	0.0%
First 1000 kWh (2)	\$0.07750	8,388,000	\$650,070.00	29.8%	0.0%
All additional (2)	\$0.07750	28,695,368	\$2,223,891.02	49.6%	0.0%
Total Block Charge (AVG)	\$0.0000	38,257,634			
Fuel Adjustment Charge	\$0.02527	37,083,368	\$937,096.71	-37.2%	42.2%
Commercial Rate / kWh (1)	\$0.10735	37,083,368	\$3,980,977.73	11.7%	7.5%
		X			
EL RATE DESCRIPTION	EL IND. RATES	(kWh) SOLD/NO. OF CUST	EL REVENUE		
Customer Charge (2)	\$250.0000	525	\$131,250.00	150.0%	0.0%
Per kW Demand (2)	\$4.0000	416,893	\$1,667,573.90	14.3%	0.0%
First 100 kWh (2)	\$0.04150	60,000	\$2,490.00	50.4%	0.0%
Next 260 kWh (2)	\$0.04150	156,000	\$6,474.00	78.1%	0.0%
All additional (2)	\$0.04150	139,971,970	\$5,808,836.76	61.4%	0.0%
Total Block Charge (AVG)	\$0.0000	140,187,970	\$5,000,030.70	01.4/0	0.0%
Fuel Adjustment Charge	\$0.02527	140,187,970	\$3,542,550.00	-47.5%	42.2%
Industrial Rate / kWh (1)	\$0.07960	140,187,970	\$11,159,174.65	12.5%	10.4%

 223,549,298
 \$19,589,892

 Power Cost
 \$16,267,682

 "Margin"
 \$3,322,210
 39.6%
 24.8%

\$0.0475000

 Power Cost
 kWh SOLD
 Fuel Adustment

 \$15,890,237
 218,375,750
 \$ 0.02527